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| PART A: Vocabulary

. i
| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes |
| each sentence. T?:e a Iw correct choice on your answer sheet. |

1- The new economic policies threaten to —==----- the health care system.
1) denote 2) trigger 3) assimilate 4} undermine
2- The map clearly ---------- the boundary between Turkey and Iraq.
1) intrudes 2) conducts 3) delineates 4) withdraws
3- A rise in interest rate and inflation would severely ---------- economie growth,
1) retard 2) depart 3) predispose 4) mastreat
4- The expression “full moon™ means the 14" day of the moon -—=--=---—- from its first
appearance.
1) reckoned 2) propelled 3) proceeded 4) stimulated
5- In many countries, doctors have traditienally enjoyed high social -----—- —-.
1) arena 2) status 3) eircumstance 4) disposition
6- Her strict ---------- to the diet caused her to lose a lot of weight in one month.
1) incentive 2) adherence 3) presumption 4) accumulation
7- Constant argument caused angry -----— -- that brought an end to the peace talks.
1) discord 2) deviation 3) diffusion 4) discrimination
8- Careful ---------- of the company’s accounts revealed a series of errors.
1) procedure 2) conformity 3) scrutiny 4) contradiction
9. Unfortunately this diet is ---------- in vitamin A.
1) incompatible 2) exposed 3) antecedent 4% deficient
10- They showed a very ---------- lack of gratitude to those who had helped them.
1) marginal 2) indecent 3} differential 4} impotent

= - = = —

| PART B: Cloze Test

| Directions: Read the following passage and decide which choice (1), (2), (3), or |
| (4) best fits each space. Then mark the correct choice on your answer sheet.

Water which has fallen as rain is disposed of in three ways. Some of it evaporates, with the
help of the sin and wind, and returns to the atmosphere. Some gathers to form a stream.

(11) == sinks.inte the soil, but much of it appears again in springs and finds its way to the
surface streams. (12) =====e---- is this water from springs that keeps rivers flowing long after the
rain has stopped. Melting snow and glaciers are other sources of nver water.

The streams formed in all these ways join to form rivers (13) -———--——- they are the
tributaries. The area of land from which the water of a river and its tributaries is drawn
(14) ——--mmeeee the basin of the river. Some nivers have very large basins while others of (15) -—--
drain much smaller basins. Thus although the Nile and the Amazon are about the same length,
the basin of the Amazon 15 more than twice as big as that of the Nile.
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11- 1) Water 2) Another 3) The rest 4} The other
12-1) It 2) There 3) What 4) 1f this

13- 1) that 2) which 3) in that 4) of which

14- 1) calling 2) to call 37 1s called 4) being called
15- 1) lengthy equal 2) equal length 3) lengthy equally 4) equally lengthy

16-

17-

20-

e

PART C: Reading Comprehension

Passage 1:

Large fans are usually centrifugal, operating on exactly the same principle as centrifugal
pumps. Their impeller blades. however, may be gurved forward; this would lead to instability
in a pump, but not in a fan. Fan impellers are mounted inside light sheet-metal casing.
Clearances are large and discharge heads low, from 130-1500 mm H;0. Sometimes, as in
ventilating fans, nearly all the added energy is converted to velocity energy and almost none to
pressure head. In any case, the gain in velocity absorbs an appreciable fraction of the added
energy and must be included in estimating the efficiency and power. The total efficiency,
where the power output is credited with both pressure and velocity heads, is about 70 percent.

According to the passage:

1} Large fans and centrifugal pumps are structurally the same.

2) The operating principles are the same for large fans and centrifugal pumps.
3) Large fans and centrifugal pumps have the same function in industry,

4) Although it seems that the operating principles of large fans and centrifugal pumps are the
same, in essence they are guite different,

According to the passage:

1) The blades cannot be curved in fans and centrifugal pumps.

2) The blades can be curved in both fans and gentrifugal pumps.

3) The blades can be curved in centrifugal pumps but not in fans.

4) The blades can be curved in fans but not in centrifugal pumps.

In the sentence: “They are mounted inside --—---—- * the word “mounted” can be
substituted with:

1) fixed 2) equipped 3) mixed 4} supplied

According to the passage:

1} The pressure head is negligible in fans.

2) The pressure head is significant in fans.

3) In fans none of the added energy is converted to velocity energy.

4) In fans the added energy is converted to velocity energy and the pressure head equally.
Which of the following sentences can be inferred from the passage?

1} The velocity head is an unwanted out put in fans.

2) The pressure head in fans is normally larger than velocity head.

3) About 70% of the added energy to a fan is converted to pressure and velocity heads.

4) The pressure and velocity heads are not included in the estimation of efficiency in fans.
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Passage 2:

When separation by distillation is ineffective or very difficult, liquid extraction is one of the
main alternatives to be considered. For example close-boiling mixtures, or substances that
cannot withstand the temperature of distillation. may often be separated from impurities by
extraction.

Extraction is also wsed to recover acetic acid from dilute aqueous solutions: distillation
would be possible in this case, but the extraction considerably reduces the amount of water to
be distilled. When either distillation or extraction may be used, the choice is usually
distillation, in spite of the fact that heating and cooling are needed. In extraction the solvent
must be recovered for reuse (usually by distillation), and the combined operation is more
complicated and often more expensive than ordinary distillation.

“Withstand” is closest in meaning to:

1) reduce 2) remain 3) retain 4) resist
What does the writer mean by “close-boiling mixture”?

1) A mixture at its boiling point.

2) A mixture which is boiling in a closed vessel.

3) A mixture with components which have vapor pressures near to each other.
4} A mixture at a temperature close to its boiling point.

According to the passage acetic acid is recovered from dilate solutions by extraction ------ :
1) because distillation is not possible

2) to avoid evaporation of excessive amounts of water

3) because acetic acid and water have vapor pressures near to each other

4} because acetic acid cannot withstand the temperature of distillation

Passage 3:

Filtration is the separation of particles of solids from fluids (liquid or gas) by use of a porous
medium. This article discusses only separations of solids from liquids.

The two main mechanisms of filtration are cake filtration and depth filtration. In cake
filtration, solids form a filter cake on the surface of the filter medium. In depth filtration, solids
are trapped within the medium using either cartridges or granular media such as sand or
anthracite coal. Cariridges are wsually disposable, with media of various kinds of fibers or
porous structures, and generally mounted in pressure enclosures. In depth filtration, also called
bed filtration, gravity flow as well a pressure operation are used.

According to the above paragraph cartridges,
1) can not be replaced 2) can be discarded
3) can be used permanently 4)should be used permanently

Which of the following sentences can be inferred from the passage?
1) In cake filtration the medium is a filter cake.

2) Filtration deals with the separation of gases from solids.

3) In depth filtration sand s used to retain solids.

4) Bed filtration is ong of the methods used in depth filtration.



b amino AUNTY e e ()18 C_.&-‘Eﬂi"h_:! oL b

Choose the best choice and then mark in your answer sheet.

26- Heat transfer ------—- the first and second principles of thermodynamics by providing

additional experimental values,
1} explains 2) tabulates 3) predicts 4) supplements

27- Within fuid there is always a transfer of molecules back and forth across any ficticious

surface drawn in it. The underfined word in this sentence means ------ asa,
1) definite 2} large 3) imaginary 4) restricted

28- The use of formaldehyde foam in insulation was recently banned by the Consumer

Product Safety Commission. The underlined word in this sentence means --------,
1) backed 2) studied 3) sponsored 4) prohibited

29- New chemical processes now make it feasible to separate four or five different mineral
substances from copper ore. The underlined word is nearest in meaning to which of the

following word:
1) allowable 2) practicable 3) plansible 4 obtainable

30- In a semi-batch process, materials enter the process during its operation, but do net

leave. Which of the following processes is a semi-batch process?
1} A reaction carried out in a closed beaker.

2) A section of a river between two bridges.

3} A reservoir emptied using gravitational force.

4) A balloon filled with air at a constaat rate.
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